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 ELEMENT             OD         DO 

 

                  (X = 5844531,110;Y = 7577245,400) 

     Prosta     0+000,00     0+080,88    L=80,88m                                          

                  (X = 5844577,380;Y = 7577311,740) 

     Prosta     0+080,88     0+150,87    L=69,99m                                          

                  (X = 5844616,540;Y = 7577369,750) 

     Prosta     0+150,87     0+185,12    L=34,25m                                          

                  (X = 5844635,720;Y = 7577398,120) 

     Prosta     0+185,12     0+221,02    L=35,91m                                          

                  (X = 5844656,190;Y = 7577427,620) 

 

 


